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Rearrange formulas to highlight a quantity of interest using the same reasoning as in solving equations. 
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A company manufactures
heating cable. The cable sells for
$4,50 per foot. The cost, in
dollars, of producing the heating
cable is 3Vx, where x is the
length of the heating cable, in
feet. The comgany makes a
profit of $1053 on each spool of
heating cable.

Drag expressions to the boxes
and symbols to the circles to
create an equation that can be
used to find how many feet of
heating cable are on each spool.
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